D1vISION: NEGATIVE DECIMAL NUMBERS (H - SET 5)

Name:
DIVISION
Time: Score: y—
a1 —0.4713 =+ 0.01 = 226) 34855 + 5 =
22 42,45 = 0.3 = 2 504+ 7 =
213) —0.17514 + 0.07 = 28 —25.018 = 0.07 =
21y 011718 = 0.009 = 2290 —(.05797 + 0.001 =

215) —997.8 - 3 =

216) (0.4136 = 0.02 =

a1 1250.2 + 7 =

219 —0.050008 = 0.008 =

2199 3.2368 + 0.04 =

2200 —(0.82539 + 0.09 =

221) 1.0574 = 0.02 =

222) 18.592 =+ 0.7 =

223 8.061 + 0.01 =

210 —=7.4025 + 0.09 =

225)(0.16608 + 0.08 =

Mathematics: Division - Level 6 - Horizontal - Set 5
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232)
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238)
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240)

55.72 +0.07 =

—6.963 =+ 0.01 =

11.89 =+ 0.05 =

165.3 -3 =

0.04302 = 0.001 =

—5H23.11 =7 =

=224+ 1=

—125.1 +0.3 =

0.3759 + 0.7 =

3.1848 + 0.4 =

0.39904 = 0.04 =
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